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Pre-Algebra PRACTICE Test (Chapters 1-3) Date Period

Instructions: Show work clearly. Circle final answer.
NO CALCULATOR ALLOWED.

Write each as an algebraic expression. The the variable "n" to describe the number. Do NOT
evaluate. (2 points each)

1) the difference of m and 9 2) the quotient of q and 4 is 12

m-9

3) v cubed is greater than 10
v’ > 10

Evaluate each expression. (2 points each) CLEARZLY SHowwsueX
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Evaluate each using the values given. (4 points each)
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Evaluate each expression. (2 points each)
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Simplify each expression. Write in standard form with the variable term first and the constant

last. (4 pomts each)
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Solve each equation. And Check. (6 points each)
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